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General Mental Ability Test

Directions—{Q. 1 to 12) There are four terms 8. ORU : XAD - GJM : ?
in each question. The relationship/ Similarity that (A} PSVY (B) PVS
exisis between the terms left to the symbol : : is [C) SVP (D} SPV
the same between the terms right io the symbol : : _ _
Out of four terms one term is missing in each . Mosquito : Malaria : ' Dog - ?

question. The missing term is one of the four {A) Plapgue (B) Sting
alternatives given below each question. Find out (Cy Fang (D) Rabies
the correct aliernative.,
10, NFK KFN:: AXH 7
. - e cg + T
l. ;I'Iiec!.{ll'l';msl..ﬁrm B Garde (A) XAH (B) AHX
) Hi Vi) Lsarden (©) HXA (D) HAX
(C} Field (D) Farm
11, BXL :24.:DXH: 7
2. Head : Cap: : Finger : 7 (A) 30 (B) 32
(A) Glove (B) Nail ) 34 (o) 36
(C) Watch (D) Thumb .
A L 12, B—:IS;;“;”
A N C J
3. ] Bl
r-x (A) 12 (B) 13
:2: i;’ l‘s; :g © 14 (D) 15
Directions—{Q. 13 to 25) Each has four
oo terms. Three terms are alike in some wgy while
(A) — (B) - one term is different from the others. Write the
' B letier of the term, different from the others on your
{C) e L) R answer,

, . 13. (A) Crow (B} Pigeon
3. A : & : J oo {C) Swan (D) Kite

+ -+ 14. (A) Mathematics (B) Arihmetics
(A /i\ (B) j {C) Algebra (D) Geomeiry
"y 15. (A} Carrot (B} Potaio
oy it (DJ“& . {C) Tomato (D) Beel root
6. ACE : GIK : - MOQ : ? 16. (A) 12336 (B) 12448
(A} CED (B} GIR Cy 12556 Dy 126712
(C) SUV (D) SUW 17. (A) Ramayana (B) Panchaianira
7. XWV: UTS:-RQP:7 (C) Mahabharata (D) Upnishad
(A) ONM (B) ONL 18, (A) Moong (B) Jowar

(C) MNO (Dy MON (C) Gram (D) Urad
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19. (A} BDF (B) HIL
(C) NOQR (D) TVX
20. (A) TRQ {(B) NLJ
(C) HFD () BZX
21, 1A) UYWX (B} YZAB
(C) CDEF (D) KLRS
22, (A) 29 (B)y 31
icy ¥ (D) 41
23, (A) 64 (B) 125
iCy 220 (D) 343
2. () ® N\
<[] o
25. {A) Mumbai {B) Kolkata
{C) Jaipur (D) Bikaner

Directions—{Q. 26 to 39) Questions are
based on number series. Some ferms are missing
in each series and are indicated by question mark
(M or {=). Find out the missing term owt of the
four alternatives.

26, 27,64, 125, 343

{A) 212 (B) 216
{C) 220 (D) 224
27. B, 13,20, ___, 40,53
(A) 25 (B) 27
(Cy 29 (D) 31
28, 3,5.10,12, 24,
(A) 22 (B) 23
{Cy 25 (D) 26
200 5,11,23,__ 95191
(A) 47 (B) 48
(C) 4% (D) 50
3. ED,__ B, A ___
{A) AD {B) AC
(Cy CZ (D) CA
3l. H, LN Dy A HA
{A) AHND (B) ANHD
{Cy DANH (D) HDNA
3l JAMEN, . MENA _E
{A) NMA (B) AMN
(C) MAN (D) NAM

3. T.R.__N.__.I]
(a) CL (B) PK
{C) PL Dy LP
MK AAN_ KK _ A
(A) KAN (B) KNA
(C) NAK (D) KKN
35, bmz_ ab_ _ da__ _zd
{A) mad mzb (B) dam zbz
(C) adm zbm (D) zbm adm
3. T, _NTE__,_ L EN
(A) EN,T B) E, T, N
) NNE.T (D) T.N.E
gl lIN|—|/|]1]7?
w| B |
(C) | o—s (D) {‘.
— |e— [o— [ — [ =—
EEEEE]T
(A) g B) | —
© | = D) | =
— —
w4+ | A9 %|F| 2
™| F B) |
()| 44 oy X

Directions—(Q. 40 1w 50} In questions
numbers are placed in the figure on the basis of
some rules. One place 1s vacant which 15 indicated
a5 (7). Find cul the correct alternative for the
vacant place.
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| 2 3
47
. /1\ A\ /l\
3 26 4 7 5

{A) 25 (B) 26
{C) 30 (D) 36
i 0
{A) 30 (B) 23
(C) 15 Dy 12
’ e

(A) 289 (B) 290
iCy 300 D) 310
3 12 18
50
40 : 3 90
{A) 50 {B) 60
{Cy 70 {D)y 80

Directions—(Q. 51 and 52) The capital |etters
in each of the following words are coded and
written in small letters on the right side or each
word. But the small letters do not appear in the
same order as the letters in the word. Find out the
codes for letters.

PINK :htlf
JINC : thgf
PIN : flt
ICE : bfd
51, Which 15 the code for letier E—
(A) h iB) |
{C) b D)y d

52. What would be the code in correct order for
the ward NICE—
(A) bdfi (B) Thbd
(C) 1fbd (D) fbig
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Directions—{(). 53 to 56) One of the
following four rules has been applied to a set of
numbers, In every question find out which one of
the rules is applicable.

Rule
(A) Number of series are a sgquare of some
number.
(B) Number of series are a cube of some
number.

(C) Number of series are divisible by 19.

(D) The double of the number is added o its
half.

53, 120, 150, 180, 200, 220
54. 5832, 2744, 1331, 729, 343
55. 171,228, 285, 361, 399
56. 0.01,0009, 0,64, 1.21, 225

Directions—(Q. 37 to 539) Two figures A and
B are given below, Study them and answer
questions based on them by writing the correct
alternative.

Fig. A

AN
N

Fig. B
57. The number of squares in figure A is—
(A) 6 (B) &
(Cy 10 (D) 12
58. The number of parallelograms in figure B
I— :
(A) 4 (B) 5
(Cy 6 (o7
59. The number of triangles in figure B is—
{A) 2 (B) 4

() 6 (D) 8

Directions—There are three circles in
questions 6062, Firsi circle indicaies the area of

wheat, second rice and third indicates the area of
gram. See the circle carefully. Find out the cormect
alternative.

Circle-2.

/¥
e ULV
NG

Circle=3,
Gram
@). The area of only gram indicates—
(A) A (B) B
) C Dy D
fil. The area of gram and rice both indicates—
Aa)C B) G
(C) E (D) D
62. The area of wheai and rice boih indicaies—
(A) F (B) E
() D Dy G

63. Introducing Kamla, Mahesh said, “Her father
is the only son of my father.” How was

Mahesh related 1o Kamia 7
(A) Brother (B} Father
(C) Uncle (D) Son

Directions—i{(). 64 to 68) are based on the
following statements. At a party A, B, C, D and E
are sitting in a circle, The group comprises a
professor, an Industrialist and a businessman. The
businessman is siting in between the Industrialist
and his wife D. A the professor is married 1o E,
who is the sister of B. The Industrialist is seated w
the right of C. Both the ladies are unemployed.

64, Who among them must be graduate—

(A) B (B} A

icy C (D} None of these
65, What 15 A to B—

(A) Brother

(B) Uncle

(C) Brother in law
(D) Can bot be determined



66.

7.

A is sitting to the right of—
(A) Industrialist

{B) His wife

(C) D

(D) Can not be determined
Who is the Industrialist—
(A) D

(B) A

{Cy B

(D) Can not be determined

{A) Professor

. 'Who in the group is unmaried—

69,

N. Talent (VI | 7

(B) Industrialist
(C) Businesssman
(D) Can nod be determined

A is B's brother, C is D's father, E is B's
mather. A and D are brothers. How is E
Related o C—

(A) Sister - (B) Sister in law

(C) Niece (D) Wife

A and B are married couple. X and Y are the
brothers., X is the brother of A, How ¥ is
related o B—

(A} Brother (B) Brother in law

(C) Son (D) Son in law

Directions—In the questions 71-90 there is a set of Problem Figures followed by a set of five

ather figure labelled A, B, C, D, and E called the Answer Figures. In Problem figures one block is
empiy with question mark sign (7). Select a suiiable higure from the Answer sei which will substiiuie
the question mark so that a series is formed. The lemer of that selected figure is the answer which has 1o

be written in front of appropriate question No.

7L

T2

T3

T4,

75.

6.

Problem Figures

o |7

Answer Figures

) L) el L) el

o]|(@)| 7

(A) (B) (C) (D) {E}

AlE |[a]]| AlE

(A} (B) (C) (D} (E)

LU LU AT

(A} (B} (C) D) (E)

(A) (B} () (D) (E)

(A) (B) () (D) (E)

(A) (B) (c) (D) (E)
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OB, BL
un 1l .ﬂ

o [l |4 [|Z
" e "{ o

.

TR, D l 2 Z
! e ° =]

(A) B+ (€ (D) (E)

L I O I 141 ) (AT IS L i I 7 O

(A) B G D (E)

“|PIP? [6 (DD DTD

Ay B (© (D (E)

81,

(A) (B} (Ch (D) (E)

2 | 0 [ w ] 2 | W A | Y| L L

(A) (B) (C) (D) (E)

83 |0AO|AOC| ? |oAD OoA | O0A | ACD |OCV | OAD
(A) (B) (C) (D} (E}
ON|/ O] 9 |NO NOolo |0/ |lo”|O~r
34 "
»0lo~ 0./ o |~ 0o\o [<o|\o
{A) (B) (C) (D (E}
I * ] =) 0 e o)
B5. ? x ® x
y £ 19, T S |

(A) (8) {C) (D) (E)
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| £

(A) (B) < (D) (E)

86. C)'Q'

L
B
D
S

o (A E 7] D W W [ | [
(A) (B) () (o (E)
N O f o |/ o o] N
B8, ?
s | A . Ao N s

(A} B (0 o (E)

B9. ?

a B © (E)

=
"D 7[¥ ([DDVD

(A) (B) (<) o) (E)
Directions—In the following question No. 91=100 there are five lenered figures and two unlettered
figures on both extremes. One of the five lettered figures does not fit into the series. The leter of that
figure is the answer.

]

(A) (C) (D) (E)

I I L Iju L|{O O/ pjlg o
92.
| L U L0 0Oje oDjlg O

(A) (B) (<) (D (E)

o] @ o o O L o
93

(A) (B) () o) (E)
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95,

a4,

a7.

98,

9.

K ™ [
(¥ ) |
) | Y
(A) (B) {Cy (D} (E)
{A) (B) {Cy (D} (E)
{A) {B) () (D) (E)
T (| 5 =] T ol = T
= o o T =| x
o I =x|=0 1 t = 0
(A) (B) () (D) (E)
Q O O
QSO
@] O O (@]
{A) (B) () (D) {E)
_ L ', /ﬁ\
% 4 %4-_ & s‘f q‘\_.r}
(A) (B) (C) (I (E}
| |
(A} (B) (C) (D) {E)
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Scholastic Ability test

Science
Energy Crops are source of—
{A) Bio-fuels
(B) Alcohol fuels
(C) Coal Energy
(D) None of the abowe

. Commercial Acetic Acid is used in the
préeparation of—
{A) Mead (B) Vinegar
(C)y Alcohol (D) Wine

. Artificial heart valve is made up of—

(A} Special Plastics (B) Ceramics
(C) Mertal alloys (Dp All of the above

. ELISA is—

{A) Immunological test
(B) Serological test
(C) Both (A) and (B)
([3) MNone of the abowve

. Cause of Syndrome is—

(A) Abnormalities in chromosomes
(B} MNufrition

(C) Life style

(D) None of the above

. Liver is located in—

(A) Neck
(C) Abdomen

(B) Head
(D) Thorax

. Sinuses is relaied with—

(A} Open circulatory system
iB) Closed circulatory system
(C) Body tissues

{D) MNone of the above

. Law of purity of gametes was proposed

{A) Lamark (B) Darwin

{C) Mendel (D) Hugo-De Vries
. Genotype of Klinefelter syndrome is—

(A) 444 + XXY (B) 444 + X0

(Cy 450 + XY (D) 454 + XO

LI

112,

113,

114,

115.

16

11T

118,

14,

120.

Plague is a—

(A} Viral Disease
(B} Fungal Disease
(C) Bacterial Disease
(D) Mineral Disease

Permanently coloured optical
Comtain—

(A) Cerium Oxide
(C) Silver lodide

glasses

{B) Cerium Chloride
() Silver Bromide

Waier pas 15—

{A) 2H + CO (B) 2ZH + CO,

(C) Hy+CO {D) Hy + CO,
Yermillion is—

(A) Hgs (B) HgNH,Cl

(C) HegCl, (D) Hg (NO,),

On the Pouling's electro-negativity scale the

element next to Fluorine is—

(A) Nitrogen (B) Oxygen

1C) Chlonne (D) Bromine

A gas has a vapour density 11-2, The volume
occupied by | g of gas at NT.P is-—

{A) IL (By 2241

(Cy 1121 (D) 4L

What is correct way—
{A) 7 iB) ?: T xm

- —

V= F WD
=y

D)W =F xds

(Ch 7 =F§+_r’

Ist Ol Koop is located in—

(A} Pennsylvama {B) Drumlin
{C) Inselberg (D) Gaya
Dizmond ring 15 related with—

{A) Sun {B) Gold
(C) Jewellery (D Finger

Percentage of Carbon in Lamp Black is—
(A) 90-55% (B) BO-909
(C) 98-99% Dy 25%

Primary source of Biological energy is—
(&) Sun (B) Animals
(C) Green Planis (D) Non-green planis
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121.

122,

123,

127,

128.

129

The formula of a Metal chloride is MCl,. If
the atomic mass of the metal is 120, it's
equivalent weight will be—

(A) 40 (B) 30

(C) 60 (D} 20

Cly0 15—

(A) Amphoteric (B) Acidic

(C) Alkaline (D) Neutral
Bk

250, + 0y :;‘1“‘03 250,

In the above reaction, As;O; acts as—
(A) Positive Catalyst

(B) Mepative Catalyst

(C) Catalyst Poison

(D) Activator

. Mass of 3-01 = 10%3 molecules of a gas at

N.T.P. is 35-5 gm. The molecular weight of
the gas will be—

(A 7 (B) 71
(C) 355 (D) 14
. Which is an antacid ?
{A) Formic Acid (B} Acetic Acid
{C) Lactic Acid (D) Milk of Magnesia

. Select the compound which contains all the

three bonds i.e. electrovalent bond, co-valent

bond and co-ordinate bond—
(A) 50, (B) SO,
(C) KOH (D) NH,CI

Hydrogen Bomb is based on the principle
of—

(A) MNuclear Fission

{B) Muclear Fusion

(C) Muclear explosion

(D) Chain reaction

Which is the Unicellular micre organism 7

(A) Spirogyra (B) Virus
(C) Parameecium (D) Hydra
Hommones are secreted by—

{A) Spleen

(B} Gall Bladder
(C) Ductless glands
(D) Kidney

130. Name the components responsible for blood

131.

132,

133,

134.

135,

137,

138,

clotting—
{A) White blood cells
{B) Red blood cells

(C) Platelets

{D) Plasma

What is the maximum life span of R.B.C. ?
(A) 1 Year (B) 127 days

(C) 24 his. (D) & Sec.

Name the mammal having smallest R.B.C.—
(A) Camel

{B) Kasturi Mrig (Musk Deer)

(C) Rm

(D} Elephant

Omion, Potato and Ginger are—

(A) Root

(B) Modified stem

(C) Adwentitions Root

(D) Scale Leaves

Who discovered the blood group in human
being T

{A) Landsieiner

(B) Jennings

{C) Pantien and Mast

(D) Karl Marx

In which atom all the three fundamental
particles (i.e. electron, proton and neutron)
are not present 7

{A) Mo such atom exisis

{B) Helium
(C) Deuterium
(D) Hydrogen
. ‘The e.m.f. of lead accumulator cell is—
{A) 145 volt {B)Y 1-1 volt
(C) 2.2 volt (D) 12 wolt

The substance mixed in the preparation of
photochromatic glass is—

{A) Cerium Oxide

(B) Silver lodide

(C) Lithium Oxide

(D) Chromium Oxide

Which gas is filled in the electric bulb ?

(A) Oxygen (B) Air

() Argon (D) Chlorine



139,

141.

142,

143.

144,

145

147,

On passing a current of 2 amperes for 5
seconds in a conductor, 30 joules of enerpy
is produced. Find out the potential difference
at the two ends of the conductor—

(A} 15 volt (B} 3 volt

(C) 6 volt (D) 12 valt

. Insummers the electric wires of transmission

line are lowered down because—
(A) Value of *g" increases
(B) Gravity of earth increases

(C) Wire are elongated on increase of
temperature
(D) Weight of wire increases

Social Studies
The height of the Mount Everest is—
(A) 8611 metres (B) EB4E metres

(C) 8481 metres (D) 8172 meires

Bhakhra Nangal Project is built on the
river—

(A) Krishna (B) Kaveri

{C) Mahanadi (D) None of these
Populationwise, in the world, India ranks—
{A) First (B} Second

{C) Fifth (D) Fourth

The capital of West Bengal is—

{A) Kolkata (B) Mumbai

{C) Jaipur (D) Ranchi

Kharif crops are sown in—

{A) Seprember

{B) June or July

{C) August or September

{I2) January or February

The unit of measuring the temperature is—
{A) Milibar (B) Cubic meatre
{C) Celcius (D) Centimetre

The two major centres producing cotton

textiles are—

(A) Mumbai and Chennai
(B} Mumbai and Ahmedabad
{C) WVaranasi and Kanpur
{2} Jammu and Kashmir

148.

149,

150

151,

152.

153.

155.

156,
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The only developed country in Asia is—
(A} Japan (B) India
(C) Pakisian (D} China

If I stand with face pointing southwards in
which direction will my right hand point—
(A) Morth (B} West

(C) East (D) North East

If a maich is played at 900 A.M, in London,
ai whai time can it be seen on Doordarshan
in India—

(A) 1200 Noon (B) 11-30 AM.

(C) 230P.M. (D) 130 P.M.

The trees are tall in Equatorial region
because—

(A) There is plenty of water

(B) The land is most fertile

{C) There is plenty of temperature

(D) There is high 1emperaturé and heavy
rainfall

Which one of the following is not correctly
matched—

(A) Ostrich — Africa

{B) Emu — Australia

{(C) Ria — South America
(D) Harpi Eagle — North America
The number of States in Indian Union is—
[A) 14 (B) 25

{C) 28 (D) 30

Who completed Kutub Minar ?

{A) Akbar (B) Jahangir

(C) Qutubuddin (D) Ntutmish
Mahmood invaded India—

{A) Two times

(B) Ten times

(C) Seventeen times

(D) Twenty times

Who introduced token currency 7
{A) Alauddin Khilji -

(By Razia

{(Cy Muhammad Tughlug

(D) Firoz Tughlug




































